o—o h ‘oo (6 s: o= Negative Exponents of 10 (Power of 10)

Name: Date: Score:
361.5 x 10* = 733.4 x 100Y =
3% 10° = 763.5+ 1079 =
1001 = 7% 1009 =
107% = —2x 10 =
751.4 x 100Y = 1002 =
1073 = 7% 100D =
413+ 10 = 141.8 = 1073 =
494.5 x 1007 = 4x 100D =
1072 = 1003 =
611.8 +100% = 587 x 107 =
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> Q oo 6 550 Negative Exponents of 10 (Power of 10)

Name: Date: Score:
361.5 x 10° = 36150 733.4 x 10°% = 0.07334
3 % 10% = 300 763.5 + 107 = 7635000
1077 = 0.1 7% 107% = 0.0007
107 = 0.0001 —2x10=-20
751.4 x 107 = 0.07514 1072 = 0.01
107% = 0.001 7x 100 =0.7
413 + 10% = 4.13 141.8 + 107 = 141800
494.5 x 100 = 0.4945 4x 107D =04
1072 = 0.01 107 = 0.001
611.8 + 107 = 6118000 587 x 107 = 0.0587
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